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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafad gt & SR 39 & [T @98 SRE fased ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

fffeg & & @9-ar  Em
e & dd 78 B 7

1) GHE HFEH
2) f¥=ar @1 FEw
3) YiFM @ Ew
4) 9 fEm

Frfofed # & #9-a1 3% & O
fopaTeTes Tdierer 7gf B ?

1) HIg H b fSoET g
2) TSHSISY H JE-TWN TO&0T
3) AP B 9 ThE

4) WARS-fA qler

Freifafad & | HF-a1 ag e 56K
9 T8 T ?

1) e e
2) fqsoene® usH

[ Level-2/1211]

Which of the following laws is not

related to heredity ?
1) Law of Similarity
2) Law of Variation
3) Law of Regression

4) Law of Progression

Which of the following is not a

performance test of intelligence ?
1) Koh's Block Design Test

2) Alexander's Pass Along Test
3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an

objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

P.T.O.



[4/A]

4.

Rt & o e Reid & oTgER,
FpeiTeer 2

1) e Feurfar @ stEen
2) e Afcepdr @t oTaR
3) W Afear # orae
4) T@ET Afqear H efaeen

fr=ifofeg & & ®9-9 fadwar Ee
N Ufadiied GsHcTe [ s
Bl A GhAAE FER § Gl 787
g7

1) SoHAYIE (WeE & &)
2) HETE

3) SidmE

4) G

s et & gt § fe-dr
HT TEl 78 T 7

1) ®is A & AR e Th-gHH
Tl BId

2) YafFs R fagwaet & sy
7 foaam B

3) s framd ot gHuar H
Al Bl ST B Bl

4) FRRF RITAIC daw SRR
1 & qRem et 2

[ Level-2/1211]

4. According to Moral Development

theory of Piaget, adolescent period
is:

1) Stage of moral realism

2) Stage of morality constraint

3) Stage of heteronomous morality

4) Stage of autonomous morality

Which of the
characteristics is not related to the

following

concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

Which statement is not correct in
context of individual differences ?

1) Two persons are not exactly
same.
2) Individual

deviation in

differences are
regards to

characteristics.
3) Individual

distinguish individuals in their

differences

totality.

4) Individual differences are the
sole result of heredity.



[5/A]

1. 59 Ug g=d N 9/l 9M il e 1. When the lesson to be learned by
dar X FHew & Jwr IHH W Hi a child is long and difficult and
ST a, A dEn @l requires a lot of understanding,
HV-at fafyy SEREN] grlr ? then which method of learning will

be appropriate ?
1) foum iy 1) Spaced method
2) E[Uf fafer 2) Whole method
3) 3Tfe™ fafy 3) Massed method
4) YR iy 4) Incidental method

8. frm fErg s=af & [ FE-w 8. Which teaching maxim is not

foreror SERSILIE & e ? beneficial for the Ilearning
disabled children ?

1) 9 9 Sfeq 1) Simple to complex

2) GTEE q Eﬁ 2) Abstract to concrete

3) T 9§ ST 3) Direct to indirect

4) S KECEL] 4) Known to unknown

9. Ffofad § & d9-a1 ™ &1 @ 9. Which of the following is not a
frsia 78 & ? principle of development ?

1) fapmE 341§?|T§|3|7_C|T g qEEROT @ 1) Development is the product of
3R B heredity and environment.

2) foepracTs Yot E@Hﬁq BT Bl 2) Developmental pattern is

predictable.

3) fam W 9w STIEE T 3) Development follows linear
2| path.

4) e 9= § fafite @ &) 4) Development proceeds from
Jedl 2l general to specific.

[ Level-2 /1211 ] P.T.O.



[6/A]

10.

11.

12.

g midsie & ogaR S @
eI foaehre | |rHIirh T |l
FH I GFH AT Bl § 7

1) R
2) T

3) X
4) &

fr=ifeifeg & @ -9 fheiawen
wﬁgﬁﬁwaﬁwwﬁrﬁw
78 T °?

1) A & | aEeEye
e

g9
2) 41 |HITE q9ed
3) TEEH & @i

4) dR-ge

CIESEL I (G G A S e
HY-Hl TERT GRS  Afaedl B
WX 9§ gaftg 78 & °?

(a) eHidam o e

(b) T8 STIqarR® dae

(c) WIS el S AT

(d) O ofEY AR ARk
SIIRCAEY

7&] T F AT BT :

& -

1) (@ W@ (b) 2) (b) W (c)
3) (@ W (d) 4) (c) W (d)

[ Level-2/1211]

10. According to which psychologist,

11.

12.

the role of social and cultural factors

are important in the cognitive

development of children ?
1) Vygotsky

2) Piaget

3) Bruner

4) Hull

Which of the following is not a
common characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity

4) Hero-worship

Which stages of Kohlberg's Moral
Development theory are not related
to level of conventional morality ?

(@) Individualism and exchange
(b) Good interpersonal relations
(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :
) @ & D) 2) b) & (0
) @& 4 (¢ & (d)



13.

14.

15.

AN Td Riae Sl gefae gfeamett
% N HIGAT Hed ©

1) FIHLMHD HIEAT
2) T e

3) HIMIE® e

4) EHD GG

gEe Aftr & g=d § -9l
freror-erftr iy fqenlRiat & fo
gaifees TR ® ?

1) & 999
2) AN

3) WM

4) HFERH Iae

Yacita & orded Rreiq § @i
Ud M FETH B T FIEE B
PI-TT FNF GHD &9 § Y
T& A B ?

1) JEUH B TERAHOT H ITYH

q
2) TEH P GIER
3) fwafa ardmER
4) UH B FHI

[ Level-2/1211]

13.

14.

15.

[7/A]

Learning through mental

processes like attention and

reflection is called :

1) Imitative learning
2) Motor learning

3) Cognitive learning

4) Affective learning

Which teaching learning strategy is
most useful for students in context

of social learning ?
1) Field trip

2) Lecture

3) Experiment

4) Brain storming

In Pavlov's Conditioning theory,
which factor does not positively
affect the conditioning between

natural and artificial stimuli ?

1) Appropriate timing of stimuli

presentation
2) Repetition of stimuli
3) Controlled environment
4) Lack of motive

P.T.O.



[8/A]

16.

11.

18.

frafafag & @ $9-91 RS E
S UFRAT @I UHIAd 7@ @l
g7

1) s & IS &9

2) f3rerh 1 AMFRTES @
3) farerh o fawgasg s
4) T F1 IO BHie

frefefes & @ @991 &
W FH d R ST B
foera @l ueiaa 78 & ?

1) TN

2) TGN ® AN W H HFRE
T

3) gHe
4) = it

diFes® & oftm Rieid & FgER
e A & frem § weft § °

1) e & Ew
2) M H EH
3) g¥E H +EH
4) g ufeichar &1 =M

[ Level-2/1211]

16.

11.

18.

Which of the following factors does
not affect the teaching learning

process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher

4) Communication skills of teacher

Which of the following factor does
not influence the development of
child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

'Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning

theory ?

1) Law of readiness
2) Law of exercise
3) Law of effect

4) Law of multiple response



19.

20.

21.

22.

Frefafad & @ SF-a1 M SIRERen
% il w@ S gfauesl & deg |
S

FFEReTS Rl gfcrares
1) o Yg i Tefhe

2) AT TR AEql
fergia
3) uUle fid gead

4) Iudfer TREREm EERICES
faaid

gaash farem & ad ®

1) A &9 9§ dd gea & fau
farem

2) T T=af & fou Qe

3) W Ud RAM s & [
farem

4) 99 F=AI 3 0 R

fr=fofag & @ @9-or g9 Siftrm
H U fosid 78 & ?

1) SARERem

2) JafRE g

3) iRy SuRafa

4) wigRe

M % AR, T R ax ek
P JoEOH WX B AFM T o
S T S BT AMel ?

1) dYgg A
2) THE qHIEN S
3) I\ M
4) fa¥ed IRy

[ Level-2/1211]

19.

20.

21.

22.

[9/A]

Which of the following pair is not

correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent
1) Instinct theory Atkinson

2) Need Hierarchical Maslow

theory
3) Drive theory Woodworth
4) Achievement Mc'Clelland

Motivation theory

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for
disabled children

4) Education for all children

normal and

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach
3) Passive attendance
4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning
2) Problem solving learning
3) Rule learning

4) Discrimination learning

P.T.O.



[10/A]

23.

24.

25.

T % P Rl § g &
e 9 vegell W &« fam T ® ?

(a) TEHA

(b) SIS

(c) HfhaTH®

(d) HeHHS

7&] T F AT BT :
1) (a), () W (c)

2) (b), (c) T (d)

3) (a), (b) T (d)

4) (a), (c) T (d)

gt iy 3 cIftFTeRat & fow BT
Jfereh EETET SUH T&T © ¢

1) @R

2) SUIRIHS e

3) IHE FH

4) e fRrEor fafy

fpeTRIeeer H wipd |HINSEh  FaerR
Yot & o g8 %2 & 99T AT

(a) g FHIw
(b) TG

(c) STR-Hivgaar

(d) Sfeae

1) (a) T (b)

2) (b) T (d)

3) (a), (b) W (c)
4) (a), (c) T (d)

[ Level-2/1211]

23.

24.

25.

Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?

(a) Componential

(b) Experiential

(c) Operational

(d) Contextual

Choose the correct code :
Code :

1) (@), (®) & (0)
2) (), () & (d)
3) (), (b) & (d)
4) (3),(c) & (d)

Which educational intervention is
not suitable for slow learners ?

1) Acceleration
2) Remedial teaching
3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills
(b) Empathy

(c) Ego-centrism
(d) Stereotyping
Codes :

1) (@ & (b)

2) (b) & (d)

3) (@), () & (o)

4) (@,() & (d



26.

21.

qaq U ATh G W gE
g

(a) TR GO QA=

(b) IUYHRT AW & d& R
TQemg =

(c) A T G- AT I H
i HTT

(d) Bad AME I AT

7l T P TIA BT :
% -

1) (b) T (d)

2) (b) T (c)

3) (@), () W (c)

4) (b), (c) T (d)

¢ AR e & g el & o1
qEERT & W ik give
A §, T8 FLAMN ® ¢

1) fafarse faren
2) yufasher farem

3) Ui farem
4) guEsh fwEm

[ Level-2/1211]

26.

21.

[11/A]

The true meaning of continuous

and comprehensive evaluation is:
(a) Taking frequent tests

(b) Taking continuous tests at

appropriate intervals

(c) To evaluate scholastic and co-

scholastic both aspects

(d) Measuring only educational

achievements
Choose the correct code :
Code :
1) () & (d)
2) () &(c)
3) (), (b) & (<)

4) (©),(c) &(d)

The education which promotes
leaming by doing' and ensures the
student's with  their

environment to learn, that is known as :

interaction

1) Special education
2) Progressive education
3) Integrated education

4) Inclusive education

P.T.O.



[12/A]

28.

29.

30.

et foal & o M-
T dere ARl SwEr 78
2Rt ?

1) s areEl

2) el fahdret
3) % Rgw
4) IW FY HARE

AR F g W A R
PRbI & F& RS BN TIT BT :

(a) SRR

(b) AREH

(c) B

(d) Agg=

% -

1) (c)T (@)

2) (a), (b) T (d)
3) (8)TW(c)

4) (a), (), ()T (9)

T% SR FHewg o F=d & [T qun
AR g F ofdy 9 § 99En Sad
HL B -

1) feeafefan

2) TEwiferar

3) feanfthar

1) Teedhagforn

28.

29.

30.

Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the

following factors, which affects

learning :

(a) Motivation

(b) Aptitude

(c) Interest

(d) Attention

Code :

1) ©&(@)

2) (a), () & (d)

3) (@&(0)

4) (@), (), (©) & (d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2/1211]
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HRT— 11/ PART -1l

A (=) wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)

f&=t (HINDI)
fraer : i gl & SR 39 & e @98 S faee gim

[13/A]

31

32.

33.

34.

. AW 9= & d@¥g § @E-@ g
oGIT B 7
1) 998 - foma
2) forg - 4wy
3) THYY - aHH

o o

4) Tt - e

T H HH-G7 GHEIE ST
T § e ghfa 787 8 7

1) TSRO - Y YT

2) [T - AR TYEW
3) @ifehd - HOT TYET

4) RAMEIR - FIEH TGET

=1 4 @ aF-a1 Y 9= o g™
q gAfera 787 © 7

1) Ifid - o |y

2) TAgs - foe €Y

3) WeRW - gha WX §f

4) TGS - o1 @) 9y

O, qE T I g9 B HA:
SR WM R

1) drY, &S, S

2) I, %S, a1

3) FUS, &, D

4) 33, FU3, Y

[ Level-2/1211]

35.

36.

31.

38.

forq faehed &1 AT Qdehlicih fohaT
e F& 8 7

1) TH GThY = T

2) T AW BT AT FE A R

3) €l EFT ST STEgR S

4) AAU® IO B BE|  H

e

A9 T GO T SH QI B
el e ®

1) Ted @ % § A S

2) STFYSTM Gai Bl B

3) AW & T R B Fen A
4) I R FH FA

Il % 0 T q= & GEg A
HI-91 JH ofGTT © 7

1) 8 a8 & FeT & - e
2) @ foelt 3 9 g1 & - o

3) B B F F T/ -

4) fasrg ot &t i 3281 - s

g e & weal § A YRS
T & ?

1) GeioH, el
2) qgaE, gLEd
3) g, it
4) TEHIT, AT
P.T.O.



[14/A]

39.

40.

41.

42.

e e PREO-HERAT
SE-JH H FAL: 7o 7Y © 7

1) X, ¥

2) %I, Y

3) fofi, g

4) Fu, e

et 4 @ @9-ar 9= ‘aqw @
e 78§ ?
2) P

1) 99
3) R 4) FER

gﬁw%ﬁﬁaﬁaﬁﬁ—wzﬁww’w

?

1) FE T 9= 9 95 @ A
wEifed et &, 3§ fafver #eq

2) ‘9, &M, T I,
MR EICEAREE L IR T L ]

3) ‘G ¥ HE B Ted & -
TEaEs AT H ST D
4) Hedars GO H {6 9% @l

51 0 B 7 | o S

gw%ﬁﬁaﬁﬁﬁ—wzﬁaﬁw:@?

?

1) Fdaras el & YA Hed
(sl & otfafed) whaee #
2T R

2) 3, WER, & IH AarEa®
T B SEET 2

3) GoEE®  q ‘A,
gﬁaﬁzﬁw%zﬁﬁaqﬁaﬁ
|

4) fEr, witw Sw o Afw
ATadTeh Gl & IAEL 2

43.

44.

45.

o & HEg d dHe-a g O
7 & ?

1) ¥ T ST BT - e
ERIC

2) HW T HE 89 W D -
IR FERCIEC R

3) F 7 A Rl =g o -

YIS GaTy
4) I8 @ F GIR W © -

ferotares gaa
frr # § aF-a1 9= ‘oaES
dfesd g’ @ g 78 ® ?
1) ITg
2) HE
3) ag
4) AqHA
ST @ 3§ fRE 9w @

T=E-H oFIT § 7
1) Y - e, P
2) o - e, =
3) T - e, Wi

4 - ¥ gd

[ Level-2/1211]
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35t / ENGLISH

Direction : Answer the following questions by selecting the most appropriate option.

[15/A]

46.

41.

48.

49.

Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?

2) Has the work been done ?

3) Had the work been done ?

4) Will the work be done ?

Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

Fill in the blank with the most
appropriate modal auxiliary :

Your mother is seriously ill. You
........... leave for home at once.
(obligation)
1) needs
3) could

2) might
4) must

Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2/1211]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
A) ®)

record held / by Bradman who

©) D)
made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy

P.T.O.



[16/A]

53.

54.

55.

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoonas

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2/1211]



HET- I/ PART =1l
AH A9/ GENERAL STUDIES

TS JAdT, Tliches STWRFTAT a9T /T M U9 ST / Quantitative Aptitude, Reasoning
Ability and G. K. & Awareness
e : Frfoied geit & S 39 & fou @@ Sfa e gim

Direction : Answer the following questions by selecting the most appropriate option.

[17/A]

61.

62.

63.

A, 7@ R | uftedm # 8 {5 e
g T @ oA 2 fPl Tem © g
¥ gEHK 5 fRl Toam 5, O a8
oA fag & dedt § o9 e fRam
T feerd B 7

1) Sferr-uiem

2) IT-vi¥EH

3) IR-d

4) =Ry

I Rl g 9w § PROJECT' &l
'CEOPRT' @ 'PLANE' & 'ELNP'
ferEr ST 2, @ 'ORGANISED' &1 341
%S WO H {8 SR forem S ?

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

dqeH B UH U H, A S WE A
79 T B TR % € 129 ®F W
g, Ot I WM ¥ WER uRaqd
fPor SIam 8, @ A & 9@ % 4@
22df WM & SIm B, O Ul ¥ g
qSH B G § ¢
1) 27

3) 33

2) 31
4) 34

[ Level-2/1211]

61.

62.

63.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West

2) North-West

3) North-East

4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a

Trow ?
1) 271 2) 31
3) 33 4) 34

P.T.O.



[18/A]

64. UH URaGX #, A, X % N1 B, B, Y &I

65.

66.

TR, TN X T Z B g Y &, A
frafafag ®o=t & @ d9-91 &
fiag v @ 98 78 & °?

1) B,A @ Uil 3
2) B&H T G2
3) X,AHER

4) Y,Z B 91 &
§ R o ¥ 7T Ge

0,3, 9, 12, 36, 39, 42, 120, 360
1) 12
2) 39
3) 42

4) 360

g A ST R 9 8 Rl SRt
et TWH bt 6 FpHl aaar & e
g IO-Ud Rem # ggh 10 R
Il &, O A URPWE g 8
U We?
1) 0 frel
2) 8 ft
3) 10 f&t

4) 12 f

[ Level-2/1211]

64.

65.

66.

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following

statement is definitely not true ?
1) Bisthe wife of A

2) B has a daughter

3) XisthesonofA

4) Y isthe sister of Z

Find the wrong number in the

given series :
0,3,9, 12, 36, 39, 42, 120, 360
1) 12
2) 39
3) 42

4) 360

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting

point ?

1) Okm
2) 8km
3) 10km

4) 12km



61.

68.

69.

10.

qi%loaﬁaﬁ;@rwiaﬂ(gj

.
AT HA H 8 e @ B, O Se @
% A9 HE A 12 BA A T A @

fog fopem afoat @t sTasgwRdar &N 7
1) 6 2) 8

3) 10 4) 12

W T O @ SR U B B
R oA 32 & 3 AR Brge @l
i B 6 W %, ik B @ ot
576 &9 QU 3, A 3EH SR B :

1) 4 a9
3) 6 G

2) 5 9
4) 8 Tl

I wh FEfa sgys d R @
deqr 27 8, o FHHl oTel bl
deqr Bl

1) 6 2) 9

3) 10 4) 12

a1 g arge A T B H, dfer
WNIW\’:‘I@‘-IICIWQTZS:ZWS:4
g, 3 g argelt § @ A & 7 R
wd B # 21 @ e @& T8 fE
gy & Sl 8, 39 75 My g A
qre e STRT YA S 7

) 1:2 2) 2:1
3) 2:3 4) 1:1

[ Level-2/1211]

61.

68.

69.

10.

[19/A]

th
If 10 persons can complete [gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6 2) 8

3) 10 4) 12

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
876 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4) 12

In two alloys A and B, the ratio of
copper and zincis 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

1) 1:2 2) 2:1
3) 2:3 4) 1:1

P.T.O.



[20/A]

11.

12,

13.

14,

’Clﬁ'lcosece—3cot9=75|€?9
goH =gl ¥ &, @ 7 cot 6 - 3
coseceaﬂqﬁ%I

1) 3 2) B
3) 3/7 4) 5/1

e Th g H, TH GHAg B9 ABC
sfatifed frar s B, B & ot &

g T Wy @Rl 8 g9 g
fryger =

1) fquHsmg Brgst

2) gHiEag By

Uk FHER, Uh a& 15% AW |
ST B, TR IeW 3H 18 TG e
g ST 2, O a9 18% @ S S°
I W H TA (30 H) ©

1) 600
2) 540
3) 350
4) 380

Frretfeifed 2ot & Ja T © ¢

DBC, KIJ, QOP, _? , ZXY
1) VUW 2) USV
3) UTV 4) VTU

[ Level-2/1211]

11.

12,

13.

14.

If 7 cosec 6 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) B
3) 3/T 4) 5/1

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle
4) Right angled triangle

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600
2) 540
3) 350
4) 380

The missing term of the following

series is:

DBC, KIJ, QOP, __? , ZXY
1) VUW 2) USV
3) UTV 4) VTU



75. 3 TS sl H X 3 8, I

16.

11.

18.

S9b N H AN 369 B, A
el & A B

1) 25
3) 31

2) 27
4) 33

frae & Uh AMed H o faeT,
ARG 1 12 AT T QU H 5
T B, @ A IEH A9Ed 36 @, At
Y &

1) 2706
3) 2796

2) 2736
4) 2766

ak A ‘W @, B AN @, C
‘HeM FH’ T D PH B TR
HA E, AW20C 12B8A2D 6
R ¥

1) 16
3) 32

2) 18
4) 36

% AR 12 Reamies & g 3 f
i ger, 18 e &l g 9 fohml
gy guer qur 24 fhamieT & 4
fprt ufer gver | @9 FRaT B, @
g T F & AEd 9 B

1) 4 feHt/goer

2) 4.2 fHl/gver
3) 4.4 fHl /AT
4) 4.5 R4/

%’ﬁp

[ Level-2/1211]

15.

16.

11.

18.

[21/A]
The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbersis:

1) 25
3) 31

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

1) 2706 2) 2736
3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by', then 20 C 12 B8 A2 D 6 is
equal to :
1) 16

3) 32

2) 18
4) 36

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr.
covering the whole distance is :

The average speed in

1) 4 km/hr

2) 4.2 km/hr
3) 4.4 km/hr
4) 4.5 km/hr

P.T.O.



[22/A]

79. U U foresi § @ fovg & @ 719. Find the odd word from the given
FIfoTq alternatives :
1) € 2) dom 1) Violin 2) Harp
3) FER 4) gl 3) Guitar 4) Flute
80. It 16-4=2,9-3=2,81-3=4 80. Ifl6-4=2,9-3=2,81-3=4,
B, 64—4 FT O B : then the value of 64 — 4 is :
1) 3 2) 2 1) 3 2) 2
3) 4 4) 6 3) 4 4) 6
8l. 1857 & famie & anM, fr-faraa ¥ 81. During the revolt of 1857, who
4 fheq Teas # fefew el w among the following attacked
JTEHHT b ? British establishments in Rohtak ?
1) %9 gad 1) Tafzal Husain
2) I Tl 2) Imam Ali
3) HieX e 3) Mohar Singh
4) =Y ™ 4) Harsukh Rai
82. TRAM & AR Teredl & T g 82. The Morni hills of Haryana belongs
to:
1) SEal ‘ﬂ'@ﬁﬂ q 1) Aravalli range
2) RgHa gu | 2) Hindukush range
3) TRHRH &l Sl SiCKl q 3) Outer range of Himalayas
4) TRHRE B =R Sicall q 4) Inner range of Himalayas
83. =Rawm # fig dw®™M &= El'z_@'vf K] 83. In Haryana, where the Vulture
g7 Conservation Centre is located ?
1) Sig 1) Jind
2) fier 2) Pinjore
3) T 3) Mahendragarh
4) ST 4) Ambala

[ Level-2/1211]



84.

85.

86.

81.

g & ot qedia & ?

1) 95
2) 49
3) 143
4) 74

garn & feE R
ST o T ?
1) dHaa
2) UEId
3) HE

4) I

g, @ e
iR @

JoflotqoHflo & =FTHA, S HIX
T eRaem & Touue 99§

1) fo To Mo fhaag
2) 4 JIwR g S
3) i flo THo Tekadi
4) &t TEER TR

Tqad B HEA B OTEH TR
TEdl § Siowia ® ¥ &R
YHR S I off &l Ao R

[ Level-2/1211]

84.

85.

86.

81.

[23/A]

How many Tehsils are there in
Haryana ?

1) 95
2) 49
3) 143
4) 74

In which district of Haryana, the
Khelo Archery
ranking competition was organised ?

India Women's

1) Sonipat
2) Panipat
3) Karnal

4) Yamunanagar

The  UPSC
subsequently became the Governor

Chairman, who

of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad

The Scheme, which is being run by
the Haryana government to
replace paddy crop with more
tradition crops is :

1) Meri Fasal Mera Byora

2) Meri Virasat

3) Mera Pani Meri Virasat

4) Hamara Dhan

P.T.O.



[24/A]

88.

89.

90.

g & J9Ma secge o6 G
ST HEI el e & 7

1) YT
2) Sl
3) duga
4) FHHE

gRAT % g Fe SARHEY DA © 7

1) Sl S e
2) gfo TER e

3) ot s v

4) HAH FHAET oS

g & Frefofed & & & @
O A0 & AW d AT & 7

1) &1 7E A
2) T MG ™
3) M AW A
4) T GOT A

88.

89.

90.

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat

2) Ambala

3) Panchkula
4) Kurukshetra

Who is
Officer of Haryana ?

the Chief Information

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath

[ Level-2/1211]



M-IV / PART = IV
fast/ SCIENCE
fraer : i gl & SR 39 & e @98 S faeke gim

Direction : Answer the following questions by selecting the most appropriate option.

[25/A]

91.

92.

93.

94.

A & TN H AEH G B,
dl @M H e R T H 6%
SRl B 7

1) 2 2) 4
3) 8 4) 16
TSN & & I Bl B
1) 1070

2) o

3) 10 o

4) 1o
Syt e S ®

1) Hidser qer A J
2) B T B o
3) URI%N o el
4) | JpeT T2

TF 5 [ SAE Mol W U6 a0
F=2i+3j+6k =d, 10 &
99 d% HF P 8, a9 NEE B
a7 & gfReds &rm

1) 12 HeX/A578
2) 14 HeX/AFS
3) 24 HX/AFS
4) 36 Hie(/AFS

[ Level-2/1211]

91.

92.

93.

94.

If the amplitude of loudness of
sound becomes twice, then loudness

increases by a factor of :
1) 2 2) 4
3) 8 4) 16

Range of the gravitational force is :
1) 10¥m

2) Infinite

3) 10°m

4) 1Im

Bioluminescence occurs in :

1) Coelenterata and Ctenophora
2) Ctenophora and Porifera

3) Porifera and Coelenterata

4) All options are right

A force F=Zf+3]’+6]€ Newton acts
on a 5 kg object for 10 second,
then the change in velocity of

object will be :
1) 12m/s
2) l4m/s

3) 24m/s
4) 36m/s

P.T.O.



[26/A]

95.

96.

917.

e S8 o8 WOl gOd & 3
e o gu § ?

1) TN qe QA4
2) ®g% AT YN
3) AT T FHAHIN

4) AN qU greHiEe

Jee qfieh WX W fOR dl wEe
% fq Frefafad & @ $i9-a1 Suga
TeFE ?

1) axgett 1 Jeror qer RS e

2) I ST
3) I HA F FPHA

4) favg H FA B SR GHAA

R gear §ex qul Tgaed 6
AR gt Aifees & & IuwEe
¥ qd S 8 ?

1) zegs IwE

2) HidiEe e
3) SRI-AE SUES
4) TI-AAEN UG

[ Level-2/1211]

95.

96.

91.

Lichens are very good pollution

indicators. They are made up of :
1) Prions and Algae

2) Fungi and Prions

3) Phycobiont and Micobiont

4) Prions and Euglenoids

Which of the following is not

appropriate to understand science

at upper primary stage ?

1) Observing things and
recordings

2) Plotting graphs

3) Hands on experience

4) Learn the subject through

abstraction

Gibbons, proboscis monkeys and
Rhinoceros found in which of the
following subregion of oriental
Zoogeographical region ?

1) Indian subregion

2) Ceylonian subregion

3) Indo-China subregion

4) Indo-Malayan subregion



98. WEENR H Y&q IS ¢

99.

100.

1) SIS
2) sSRUH

3) Feriegd

4) e ()

= & | PF-a1 At G5 1 @
AT 7% 8 7

1) e H SH

2) ="

3)
4) ot fospew @2 B

frfafed & @ @9-a1 40 g BR®
gehe ¥ A% o & Al b Fel
He A TR B § 7

[TRHTUG 5| Fe = 56 u, S = 32 u,
O=16u]

Fe S O
1) 2 3 12
2) 1 1 4
3) 02 03 1.2

4 0.1 01 04

[ Level-2/1211]

[27/A]

98. The chief producers in oceans are :

99.

100.

1) Dinoflagellates
2) Diatoms
3) Euglenoids

4) Planktons

In following which is element of

physical science lesson ?
1) Title oflesson

2) Introduction

3) Presentation

4) All options are right

Which of the following represents
the correct number of moles of
each element in 40 g of Ferric
sulphate [Atomic mass Fe = 56 u,
S=32u,O =16u]
Fe S 0]

) 2 3 12

2) 1 1 4

3) 02 03 1.2

4 01 01 04

P.T.O.



[28/A]

101.

102.

EMEE & AR I’ U=l &
2l 31 = § | i-ar e AT @
I P X g R ?

1) HE — TERRRE — FILHE
— G

2) HIE — TERARE — TG
— RIpIEr

3) WARIHIAN — TIHEN — TN
— G

4) THE — FEGHET - TEARY
— i

% YHIS ROl e B § SrEkid
i Bl o & fomae o ®

1) oufed fRRor qen feia R &

qeT B R

2) oTufod fRROT d STvafid feRRer
% HA B BT

3) fuafda fever wd frig feor &
HqE H B
4) g Fo

[ Level-2/1211]

101.

102.

The wall of alimentary canal
possess four layer's. Which of the
following is the correct sequence

from outside to inside ?

1) Mucosa — Muscularis —

Submucosa — Serosa

2) Serosa — Muscularis —

Submucosa — Mucosa
3) Submucosa — Mucosa —
Muscularis — Serosa
4) Mucosa — Submucosa —

Muscularis — Serosa

A light is refracted through a

prism. The angle of deviation is :

1) The angle between incident

ray and emergent ray

2) The angle between incident

ray and refracted ray

3) The angle between refracted

ray and emergent ray

4) The angle of prism



103.

104.

= & @ B9 e My gt
H B foemrashia orawer B ?

1) PR A BRI B

2) ANMT FEIET F SAHS T
ST

3) WY1 &l YedN U4 HH UREEE
ST

4) RO W FE Td SR G
ST

BT - I F BT P - I § FHifTT -

i - I e - IT
(@ YHIT  TEEED (i) 2KClOss —
JqHe 2KCls) + 305
(b) ST oTqge (i) 2A1,03pmy —
4Al) + 30z(g)
(c) foga emged (i) Mg +
CuSOy(aq) —
MgSOugag+
Cug

(d) fe™s sfiskaT (iv) 2AgBr() -
2Ag() + Bra)

&7 faea & -

1) (a)-(@iv), (0)-@), (c)-(ii), (d)-(iii)

2) (a)-(1), (b)-(id), (¢)-(ii), (d)-(iv)

3) (a)-(iv), (b)-(id), (c)-(ii), (d)-(1)

4) (a)-(iv), (b)-(id), (c)-(), (d)-(iii)

[ Level-2/1211]

103.

104.

[29/A]
In which of the following is
developing stage of process of

action research ?
1) Developing an action plan
2) Implementation plan and
collecting data
3) Identified and

topic

limiting the

4) Sharing and communicating

the results

Match the

Column-II :

Column-I with

Column-1I Column - 11

(@) Photochemical (i) 2KClOjzs —
decomposition 2KCl + 302

(b) Thermal (i) 2AlO3m —

decomposition 4Al) + 302

(c) Electrolysis (iii) Mg +
CuSOy(aq) —
MgSOy(aq+
Cug

(d) Displacement (iv) 2AgBr, ——

reaction 2Ags) + Bryg
Correct option is :

1) (@-(v), (0)-(1), (0)-(1), (d)-(iii)
2) (3)-(), (0)-(D), (c)-(ii), (d)-(iv)
3) (8)-(v), (b)-(ii), (¢)-(iid), (d)-(D)
4) (8)-(v), (0)-(), (c)-(1), (d)-(iii)

P.T.O.



[30/A]

105.

106.

I uh e FEd @ong @R |
HIq UH f4eM § A B @ 8, a9
P & 3 nd %S ¥ 99 W W

e
[U = JRI%6 AT
a= @ dNT]

1) U+a(l+n?

2) U+ @,(@n-1)
3) U+3(n+1)

4) U+§@n+h2

S Th S Ul g & 8
BT IO &, 9

1) THH IT I ST &

2) TEEH Foll 9 K o

3) I T Tl ANl §6 I §

4) THH AT TG FHoil G @A ©

[ Level-2/1211]

105.

106.

If an object is moving with constant
acceleration along one direction
only, then the distance travelled in

the nth second is :
[Take U = Initial Velocity

a = Acceleration ]
1) U+a(l+nd

2) U+, (@n-1)
3) U+3,(@2n+1)

1) U+%@n+nz

When an electron is passing
through magnetic field, then :
1) Its velocity is increased

2) Its energy isincreased

3) Both velocity and energy are
increased

4) Velocity and energy of electron

remain constant



107. Fr=ifafad 39 oM@ & d@dMgEs
I FHIT

-

A

Frfefad & @ $F-8 Hicmgel & A,
B @1 C &l @&l Yakid & & 7

1) g9 (e 4 g€ AR gu gen

2) w Sl A FAl TR
3) T= gam EIEK]
4) Timam fod e 9w wEEd

108. M I & Tk ® WU GE<
&9 & eaaE gl BN 8, ST

1) 2.5 HiexX
2) 25 @Ho
3) 2.5 @flo

4) 25 Hex
[ Level-2/1211]

[31/A]
10Z. Study the given Venn diagram

o

/\

N

carefully :

Which of the following colloidal

systems correctly represent points

A,BandC?
A B C
1) Mist Whipped Dust
cream fumes
2) Milk Hair cream  Pumice
stone
3) Paints Smoke Cloud
4) Coloured Wings of Butter

glasses butterflies

108. The minimum distance of distinct
vision for young adult with normal

vision is about :
1) 25m
2) 25cm
3) 2.5cm
4) 25m
P.T.O.

Download from www.MsEducationTv.com



[32/A]

109.

110.

111.

U 1 % SN 9 B B gl G &
Y 7 TR aRakid el

Wl () =128 X

% [T @Y S 0 @ 10 A%
3 7 ofeq 9 ® ¢

1) 6 Hie/A%'s

2) 24 HeX/AFS

3) 36 Hie(/A%"S

4) 12 HeX/AFS

Frfefed & @ SF-@ s R J
-t ity & ?

INRCERIESES
2) HA-TW HeEdl

3) Uigd-J&i%h
4) JMHIE

BT -1 H B B - I § i ¢

i - I e - IT
(a) 28 g He (@) 58.5u
(b) 0.5 71 O, (i) 7 A
(c) M @@ & (iii) 60 g
HITAR

(d) BT B 1.5 (iv)1l6g
o

gel fapeq B -

1) (3)-(iv), (b)-(id), (c)-(iii), (d)-(D)

2) (a)-(i), (b)-Av), (c)-(), (d)-(ii)

3)  (a)-(ii), (b)-(), (e)-(ii1), (d)-(iv)

4) (3a)-(ii), (b)-(v), (c)-(i1), (d)-(1)

[ Level-2/1211]

109.

110.

111.

The distance (s) travelled by a
particle varies with time (f) as :

(s) = 1.2 £ meter.

The average speed during time
interval O to 10 second is :

1) 6m/s

2) 24m/s
3) 36m/s
4) 12m/s

Which one of the following is
co-curricular activity in science
teaching ?

1) Science club

2) Audio-visual aids

3) Text-book

4) Blackboard

Match the with

Column-II :

Column-I

Column-1I Column - I1

(a) 28 gHe
(b) 0.5 mole of O3

(i) 58.5u

(ii) 7 mole

(c) Molecular mass (iii) 60 g
of common salt

(d 1.5 of (iv) 16g

calcium

mole

Correct option is :

1) @-(v), (b)-(d), (c)-(iid), (d)-(1)
2) (8)-(i), (b)-(iv), (c)-(1), (D)-(iii)
3) (8)-(i), (b)-(@), (c)-(iii), (d)-(iv)
4) (8)-(i), (b)-(iv), (c)-(iii), (d)-(1)



112.

113.

206 g TUac B¢ AIfSTH SEs &l fagq
Aued f6mr Sr B, O AfeEw #
Il Afeehed ZHH B8R

[GHE 599 Na = 23 u, Br = 80 u]
1) 40g

2) 469

3) B2g

4) 23g

AR & Gqof fshar F el Al
¥ I EEHRHT B &

I 1-3 SEHREHTARARS oF — 3-
HIERRARHRE 31T

II. BEREAA
LIS RS

1. 2-BHERAEHR® A N
BRI 6 3T

IV. 3-BEhaRaR® o —  2-
HIERRARHRE 31T

1) ad 1 @ 11

HELIEC NG L S

2) ad I o I
3) ad II qor IV

4) Faq I quOm IV

[ Level-2/1211]

112.

113.

[33/A]

206 g of molten sodium bromide is
electrolysed. The maximum mass

of sodium obtained will be :
[Na =283 u, Br = 80 u]

1) 40g

2) 46g

3) 52g

4) 23g

In the entire process of glycolysis

4 phosphorylation occurs in two of

the following steps :

I. 1-3 Diphosphoglyceric acid —
3-phosphoglyceric acid

II. Phosphoenol Pyruvic acid —
Pyruvic acid

III. 2-phosphoglyceric acid —
phosphoenol pyruvic acid

IV. 3-phosphoglyceric acid — 2-
phosphoglyceric acid

1) Onlylandll

2) Only II and III

3) OnlyIll and IV

4) OnlylandIV

P.T.O.



[34/A]

114.

115.

PEH - I8 RT T e o1 e

PAH - I § QT TT I TR bl

fafyr | #Hifre :
ied - I i - II

(@@ ¥ qd & (@) BET
GEM]

(b) e § e g (i) MR
oe &l ol

() S H W% W (i) T
LE

(d) IEd H N H (iv) aH
RECIRESINGE)

#7el faseq ©

1) (@-(@v), (b)-(iii), (c)-@), (d)-(ii)
2) (¥)-(1), (b)-(ii), (c)-(v), (d)-()
3) (@-(@v), (b)-(1), (c)-(ii), (d)-(iii)
4) (2)-(@i), (b)-(ii), (c)-(), (d)-{v)

T% 210 dfc & a9 5 e | fba
PAR FHT A BT 7

[4.2 90 = 1 3a difm]

1) 63,000 dard

2) 80,000 Hard

3) 15,000 Fard

4) 10,500 Hard

[ Level-2/1211]

114. Match

115.

the mixture given in
Column - I with their method of

separation given in Column - II :

Column -1 Column - I1I
(@) Oil mixed (i) Sieving
with water

(o) Iron powder (ii) Decantation

mixed with

flour
(c) Salt mixed (iii)) Magnet
with water

(d) Kidney beans (iv) Evaporation

mixed  with

rice flour
Correct option is :
1) (8)-@v), (b)-(iii), (c)-(1), (d)-(ii)
2) (8)-(i), (b)-(iid), (c)-(iv), (d)-(D)
3) (8)-(v), (b)-(D), (0)-(i1), (d)-(iii)
4) (8)-(i), (b)-(iid), (c)-(), (4)-(iv)

A bulb of 210 W will produce heat

in calorie within 5 minutes ?
[Take 4.2] =1 cal.]

1) 63,000 cal.

2) 80,000 cal.

3) 15,000 cal.

4) 10,500 cal.



116.

1117.

118.

fpe Asiiws X wawew gwemr %
PR e e & odur =
RGBT H Gore Yd IR q &
A ?

1) IR RFHT

2) TITh Al

3) e gh

4) SESA T &N

Frefefed & @ $9-8 FHRG T
g7

ORENIEERELEISSERE EIERI)
(i) T H TIHC

(iii) T & AT

(iv) F (FhEedt) &1 HeureH

1) () T (i)

2) (i) € (iii)
3) () T (iv)
4) (i) T (iv)

= & 9w faeew B © 7

1) |t gY97 > defe g9 > Wiad
o7

2) el qY > g g > R
o7

3) ek qvo > e g9 > gt
gy

4) Ofgs gdo > G g9 > FAefw
qyo7

[ Level-2/1211]

116.

1117.

118.

[35/A]

The scientist who first explained
that cells divide and new cells are
formed from pre existing cells is :

1) Walther Flamming
2) Rudolf Virchow
3) Robert Hooke

4) Schleiden and Schwann

Which of the
exothermic processes ?

following are

(i) Reaction of water with quick lime
(i) Dilution of an acid
(iii) Evaporation of water

(iv) Sublimation of camphor

(crystals)
1) (@) and (i)
2) (ii) and (iii)
3) () and (iv)
4) (ii) and (iv)

Which is
following ?

correct option in
1) Sliding fraction > Rolling
fraction > Static fraction
2) Rolling fraction > Sliding
fraction > Static fraction
3) Rolling fraction > Static
fraction > Sliding fraction
4) Static fraction > Sliding

fraction > Rolling fraction

P.T.O.



[36/A]

119.

120.

121.

RS F TEENS 9 ©
1) ALO;.2H,0

2) NagAlF,

3) Na,AlF,

4) NaAlF,

M ¥ fh9 wEew (d9) d &%
RtE=EReT O qr ST ©

1) TAfeT

2) gt

3) HiH

4) IHEARA

Th Fell 15 Fhala™ 1 go ol |9
2.0 HeX SR Todl AN B |

W@ Bl F BN 9o WX AT T
w4 B : [g =10 m/s2TRI)

1) 300 o HIX
2) 30 e HiX
3) 600 & HieX
4) 3 T Ui

[ Level-2/1211]

119.

120.

121.

The chemical formula of cryolite is :
1) Al,O;.2H,0

2) NazAlFg

3) Na,AlF,

4) NaAlF,

Which one of these phylum possess

closed circulatory system ?
1) Annelida

2) Arthropoda

3) Mollusca

4) Echinodermata

A porter lifts a luggage of 15 kg
from ground and puts it on his
head 2.0 m above the ground. The
work done by porter on the
luggage is : [Take g = 10 m/s?]

1) 300 Nm

2) 30Nm

3) 600 Nm

4) 3Nm



122.

123.

124.

frr & @ o @ & wefml @m
g e ?

1) dedr, g, fEwdr qor Qe

2) ST, AREE, T Aul T Vg

3) m, M wed, sl qur 9

4) g, HER, AT ASA TN BT

reifiys A 3T HH-g § 7

1) el qu e aferdt
2) eI aa e Yo
3) IRy Hse qUr UARHA
4) IEHY TAT YRRATH

fr=fofeg & @ d9-a1 Fa & 78

g7

1) 9 % HEax ol 8, o Aidas
T TEENS qRaae e e gl

2) FaEdE Sy et & AuNee
H @M E JA TENE I
FA B

3) AAE W TH WA H NF &
SR METr BT Hear gl

4) WX 998 F Gl T AfE
RIECRE ]

[ Level-2/1211]

122.

123.

124.

[37/A]

Which of the following set of fishes

are edible ?

1) Catla, Rohu, Hilsa and Pomfret

2) Prawn, Sardines, Lobsters and
Rohu

3) Prawn, Lobsters, Crab and
Oysters

4) Rohu, Mackerel, Lobsters and

Crab

What are the primary lymphoid
organs in the body ?

1) Spleen and lymph nodes

2) Tonsils and payer's patches

3) Bone marrow and thymus

4) Thymus and appendix

Which of the following statement is

not true ?

1) When a candle burns, both
physical and chemical changes
take place.

2) Anaerobic bacteria digest
animal waste and produce
biogas.

3) Depositing a layer of iron on
zinc is called galvanization.

4) Stretching of rubber band is a

physical change.
P.T.O.



[38/A]

125.

126.

1217.

S TAHeeR e (FaEee frede)
W FA & I 8, I -1 S
JFRS § T Y8 H TGRT § 7

1) UeEgiies & (To o Tdo)
2) I

<)IRUERICEGE]

4) TSR

i e e s e A 4 e AR
TR &7 | gauE © ?

1) afsar

2) T AiWeX M
3) d & A

4) B HA

Th IO U9 H FmAT B 3.0
diex 31 Ak o fr 3@ 3O 9 5.0
i g W Rem &, @ ol &t
Reffer 2R1 -

1) +2.14 HiX

2) -1.15 Hiex

3) -2.14 Hiex

4) +1.15 HieX

[ Level-2/1211]

125.

126.

121.

When glomerular filteration rate
falls which of the following hormone
is released to stimulate glomerular

blood flow ?

1) ADH (Antidiuretic hormone)
2) Renin

3) Angiotensin

4) Aldosterone

Which of the following species is
critically endangered reptile in
India ?

1) Gharial

2) Bengal Monitor

3) Common Skink

4) Green Turtle

A convex mirror has a radius of
curvature of 3.0 m. If a object is
located at 5 m from the mirror,
then position of image is :

1) +2.14m

2) -1.15m

3) -2.14m

4) +1.15m



128.

129.

130.

PI3 %Y TR FHIH m HAAM B,
5 Hiex/AFs I @ o & e
JE B TS Holl 25 I oI AR I
% AT B AN AT el R §@,
TP TSl St BRl

1) 225 @

2) 15 g

3) 450 Jd

4) 375 9

P & & P81 eI gl
g7

1) RGN

2) SUHH

3) Urfeaanifer

4) AT (T STEEERE )

et 4 @ -1 qey aiRRefE!
STTHACT H 7ET HH © 7

1) WEHHS — STAEHHE — HEATT HHS

2) THHHD — TEHA! TP —> SIHEHHSD

3) HEAACH HHED — HEHHSD — STAHID

4) STASHTH — TEHA HHED — TEHHAD

[ Level-2/1211]

128.

129.

130.

[39/A]

The kinetic energy of an object of
mass m moving with velocity 5 m/s
is 25 ]J. If velocity of this object
increased by three times, then

kinetic energy will be :
1) 225]

2) 15]

3) 450]

4) 375]

Which one of these is a excitatory

neurotransmitter ?
1) Glycine

2) Dopamine

3) Acetylcholine

4) GABA (Gamma Aminobutyric
Acid)

Which of the following is the
correct sequence of succession in

plants ?

1) Xerarch — Hydrarch — Mesic
2) ZXerarch — Mesic— Hydrarch
3) Mesic — Xerarch — Hydrarch

4) Hydrarch — Mesic — Xerarch

P.T.O.



[40/A]

131. dedl H UsEge 09 & &9 A 131. In which the following mirror is
HF-7 FYO7 IUFT F fora o ® 7 used as rear view in vehicle ?
1) Sqd g 1) Convex mirror
2) dqd YT 2) Concave mirror
3) SUA T Iaqd QNI Uh-9re 38) Both convex and concave
mirror together
4) 37@ q Eﬁ"i& Tt 4) None of these
132. U% GQNG STUHMTE B SIeel [ 132. The hydrophilic end of a synthetic
g detergentis:
1) CHs- (CHyz)10—- CH,- 1) CH;- (CHgz)10- CH,-
2) COj; Na' 2) CO3; Na*
3) SO; Na* 3) SO, Na*
4) COO Na' 4) COO Na'
133. =1 § § @9-a W &Y g giad 133. Onmne of the following is hormone
fpam < & ? secreted from Heart :
1) Tead ﬁﬁ?ﬁﬁzﬁ e 1) Atrial Netriuretic Factor
2) ;ﬁ'{ﬁ@ﬁﬁﬁ 2) Noradrenaline
3) At 3) Vasopressin
4) UEHAN 4) Adrenaline
134. H¥ % FUA H fhadl T@L B 134. How many facial bones are there in
arfeerat EI'I".% o the skull of human ?
1) 8 1) 8
2) 14 2) 14
3) 22 3) 22
4) 2 4) 2

[ Level-2/1211]



135.

136.

T U W IYHT THE 9 TG q9
w® O Y& & faeeer & oremae

FH B T W H ST B
\L—Wam‘ra
g\ P

Freifafaa & @ T &1 #F-a1 g
FF a | Fafa & faRa g o?
(feam &1 qEE ZE@EE H = 1 u,
C=12u,N=14u,0=16u)

1) NH, T H,
2) CO T SO,
3) CO Tl N,

4) NH, T N,

R & B agel & el @
ged g F4 4 el 8@ se-
el Zaer ® 7

1) e > e > T > |ifeem
2) WIETH > R > A > i
3) wfesaH > i > H=iied > o

4) Wit > F=iRRE > RKif > e

[ Level-2/1211]

135.

136.

[41/A]

The apparatus given below is used
to study the diffusion of a number
of gases at the same temperature
and pressure.

Porous Barrier

7

Gas Vacuum

2%

Which of the following pairs of
gases would diffuse into vacuum at
the same speed ? (Given atomic
massof H=1uy, C=12u, N= 14 u,
O=16u)

1) NHzand H,

2) COand SO,

3) COandN;

4) NH;and N,

Which of the following is the

correct arrangement of the given

metals in descending order of their

reactivity ?

Zinc, Iron, Magnesium, Sodium

1) Zinc > Iron > Magnesium >

Sodium

2) Sodium > Magnesium > Iron >
Zinc

3) Sodium > Zinc > Magnesium >
Iron

4) Sodium > Magnesium > Zinc >
Iron

P.T.O.



[42/A]

1317.

138.

139.

R H X AR H b
FEAT &

1) &G

2) RIS /AHS A

3)  ERIIHERT /AT
4) WHTIH

S 3 [ & 3 gl #

frfafag & 9 @F-a1 Fu9 F@ e ?

1) S H G SEd a9 g9y T
W BT & el QO &8 e B

2) AT & 99 &F A T B0 Bkl
2

3) S H G99 ST} & &% ofed
(Fem) T B B

4) M H GEH ST/ H T A
AT 1 Bl 2

gt ) e ¥ W h SR I g
% Toed TG & HRO @ & HH
¥ o7t afteds &

[femr 8 R- gt & B

1)

2) 1-22

3) —

2h

4 1+
) R

[ Level-2/1211]

131.

138.

139.

The process of release of sperm
from seminiferous tubule is known
as:

1) Ejaculation
2) Spermatogenesis
3) Spermiogenesis

4) Spermiation

Which of the following statement is
correct with respect to flame ?

1) Outer zone of the flame is its
hottest part where complete
combustion takes place.

2) Middle zone of the flame is of
red coloured.

3) Innermost zone of the flame is
moderately hot.

4) Innermost zone of the flame is
of blue coloured.

At a height h above the earth's
surface the fractional change in
the value of acceleration due to
gravity is :

[Given R - Radius of earth]

1)
2) 1-22
3) =

4) 1+—



140.

141.

142.

1 & #9-8 mewm § @ a
P T s B 7

1) &

2) wmE (fe) /@

3) 9!

4) frarq

5 fhelam &1 T 6 [ 0
% FW @ A 5 AR E W
TR 10 Ao, AeE 20 Mo Tl
HAE 40 Tlo B, T8 «AF & &N
EERICESUEICI TS

[ g=9.8m/s*TIT]
1) 612.5 e /Ho®
2) 2450 /w0’
3) 1225 e /o’
4) 6125 e /Ao’

fr1 4 @ ®9-a1 Fo g R ?

1) U Te. . (1979) 3 Hed
ES I CU GG GRS L EY

2) g9 aqu fiead (1978) W AfeH
AT Tehrilh TR

3) AT . . (1979) I A&
TS qbriich bl THAAT

4) 3. TH. §&4 (1975) 7 IgG
TR fepd

[ Level-2/1211]

140.

141.

142.

[43/A]

In which of the following media

speed of sound wave is greater ?
1) Air

2) GClass (Flint)

3) Water

4) Vacuum

A block of mass 5 kg is kept on a

tabletop. If block have length 10

cm, breadth 20 cm and height 40

cm, then pressure exerted by block

of mass 5 kg on the tabletop is :
[Take g = 9.8 m/s?]

1) 612.5 N/m?

2) 2450 N/m?

3) 1225 N/m?

4) 6125 N/m?

Which of the following statement is

true ?

1) Southern blotting technique is
developed by Alvine et.al.
(1979).

2) Northern blotting technique is
developed by Broome and
Gilbert (1978).

3) Western blotting technique is
developed by Towin et.al.
(1979).

4) E. M. Southern (1975) purified
IgG.

P.T.O.



[44/A]

143.

144.

145.

JRIST 9 | B B @e T JAA Bl
2 /@ oedsie 1.50 21 A% Ty
H = e § 3 x 10° Wex /A%

2, O9 @ H GBI BRI B

1) 0.5x10° Hiex/AHe
2) 1x10° Hdiex/ /A%
3) 3x10° Hiev /AT
4) 1.5x10° Wit /Aave

i & & SF-91 -8R g%
g7

1) R

2) I B G

3) &l

4) AHT G

Frrfci & & a1 FHe e @
i Bl HEY UG AR FIAT § ¢

1) de6 9 FET H g
SETF A B

2) Mg P TG B [T ISR
fafr & Pawr A FERE B

3) e fasarat @ gomel 21
4) FoeTe wpid & e T

[ Level-2/1211]

143.

144.

145.

Light enters from air to glass
having refractive index 1.50. If the
speed of light in vacuum is 3 X 10°
m/s, then speed of light in the

glassis:

1) 0.5x10°m/s
2) 1x10°m/s
3) 3x10°m/s
4) 1.5x10°m/s

Which of the following is an acid-

base indicator ?
1) Vinegar

2) Lime water
3) Turmeric

4) Baking soda

Which of the following statement

best describes the nature of

science ?

1) Scientists are totally objective
in their work.

2) The scientific method is the
only guide for conducting
research.

3) Science is a system of belief's.

4) Science is social in nature.



[45/A]

146. 3TARIH 99 & S dare el § ¢ 146. The offsprings produced after
asexual reproduction are :
D) A STHIMNH § T 1) Only morphologically same
2) Faq GT@HW g 2) Only genetically same
3) HAHNDl T ATEREH H THE 3) Morphologically and genetically
same
4) FHNH T AREREH § = 4) Morphologically and genetically
different
147. gl & Fepw H Freiiag § 4 147. Which of these is used in
HIF-TT TR § S ' ? extraction of metals ?
1) H® 1) Coke
2) @A K| 2) Coal gas
3) FHAAR 3) Coaltar
4) ﬁ'@ﬁ*ﬁl’q 4) Petroleum
148. fr=ifeiad § #9-9 &9 FF e 7 148. Which of the following statements
are correct ?
L. Eﬁ?;[ e § qEd (FITTﬁ) TR % I. Housefly have sponging type
TN T S 2 of mouthparts.
II. AYAFE § Pod T TaUD THR II. Honey-bee have biting and
% ﬂ'@ﬂ"T Y S gl chewing type of mouth parts.
I fooel § foFcld 96 & qaiT III. Butterflies have siphoning type
I S 2 of mouthparts.
IV. g § F@o O deded IV. Cockroaches have chewing and
E@T‘T T S 2 lapping type of mouthparts.
1) aq I 90 11 1) OnlyII and III
2) %aq I qur I 2) OnlylandII
3) %aq I qum II 3) OnlylandII
4) Faq I @ IV 4) OnlyIland IV

[ Level-2 /1211 ] P.T.O.



[46/A]

149.

150.

T Higel, S e oEmd
(60-70%) ", Tz -HI a1 fagd
IO FA & g i w9 § B
AT R, T B

1) G

2) freEe
3) fugfra
4) TR

frfafag & ¥ ®9-9 %99 gl g ?

() oEer URadd & dRM a9
yfRafdd & 2|

(i) MM argAvsalY  IRR™icdl §
g% % 9 My o@er d
qiRafid & S 2

(ii)§d & TJ=d FaUAMH, g
STG® Tl B I B

(iv) f58l T & [T T B W
SH B AN H oA B
ST A B Bl

&t faea & -

1) () @ (iv)

2) (i) T (iv)
3) (i) T (iii)
4) (iii) T (iv)

149.

150.

A brown coal, low in carbon
content (60-70%), high in moisture
content and generally used in
power plants to produce electricity
is:

1) Peat

2) Lignite

3) Bituminous

4) Anthracite

Which of the following statements

are correct ?

(1) Temperature changes during
the change of a state.

(i1) Dry ice gets converted directly

into gaseous state under
normal atmospheric conditions.

(iii) Higher boiling points of liquid
indicates weaker intermolecular
forces.

(iv) Latent heat of vaporization is
generally higher than the latent
heat of fusion for a substance.

Correct option is :

1) (i) and (iv)

2) (ii) and (iv)

3) (ii) and (iii)

4) (iii) and (iv)

[ Level-2/1211]
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6.

usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

T B FISH-E[W 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk X AT IR S Sk H I q&a of 9d o1 (Fhe wgs) & T (s 21/
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
Th d I JifFT B B I8 IY To Tef o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 oW T B AT 7 9 Ud 39 W HE I M T ) ot ot i St W # feEiRa e
% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

Y- T I T B ANEE T H, Fie e 9 oRRefd § [eT-gRae 0 St T & B § @ R &
@3%_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W = ° U T wHiw gt T % ¥ =R’ I ¥ fT€ / The candidates should write the correct Number as

given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle Ad/H F HAY W R UEEM U & SiiRed R SR @ ureg-ar, a1 ST FEST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHAT AT TR ST TR & G B S A7 SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S TX UA% TRt oo Wae S A o] 9 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

F% ordfes @1 wdwe @ AW aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR fhU A ol wlen & e 818 ARk fed vl A
A R WK A W EWRR Te Y q a8 A O % I IO T AE Aern & AR Fe ST | H A qE S
OMR T T% 7 FHiRG @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey e & &6 919 &
& Tl WY R @ g A & & @nd oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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